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Re-Examination : Additional English 1 (E31201)

Part1: Vocabulary

Choose the best answer

1.

Hybrid strains of wheat grow more quickly and are resistant to disease.

a. Newly cultivated b. Crossbred
c. Imported d. Local
2. Talking birds are birds that can mimic the spoken language of humans.
a. imitate b. intimidate
c. intimate d. Intend
3. Because Haley is a meticulous cleaner, every inch of her house is spotless.
a. reigning b. deliberated
c. fussy d. Malicious
4. Learning to make an informed decision is critical to your career development.
a. Similar b. damaging c. dangerous d. vital
5. After using the gum recommended by the doctor for three months, his craving for a cigarette
has disappeared.
a. desire b. habit c. tolerance d. distaste
6. Changes in the job market are inevitable as new technologies completely transform the economy.
a. unlikely b. certain c. optional d. Inflexible
7. In 2012, Hurricane Sandy caused about $19 billion of damage and an untold amount of grief.
a. Unreported b. incalculable c. unregistered d. unrealistic
8. Washington Irving tended to mingle history and fiction in many of his stories.
a. distort b. blend
c. cherish d. Stretch
9. In many developing countries, the sales of imported brands are severely affected by the widespread availability
of cheaper counterfeit goods.
a. local b. fake
c. shoddy d. Smuggled
10. After John  his classmate, the teacher  him after school for the entire week
a. punched , impeded b. comforted , observed

c. bullied , detained d. cheated , neglected



Part 2: Reading

Read and match each heading with a paragraph.

The banana plant grows in warm countries and bears a nourishing fruit popular throughout the world. The
banana plan grows from 10 to 25 feet tall, and looks like a tree. But it is not a tree, because it has no woody trunk. It
has what looks like a trunk, sometimes as much as 1-foot-thick at the bottom. This is made up of the long leafstalks of
the plant which are wrapped tightly together in a long stiff bundle. When each new leaf appears at the top of the stalk,
it is rolled tightly like a long green cigar. It unrolls as it grows, and finally comes to look like a great drooping feather,
from 1 to 2 feet wide and from 6 to 10 feet long.

The banana plant grows to its full size 12 to 15 months. Then it sends out a huge cluster of flower buds at the
end of strong, thick, curved stem which bends down toward the ground. A bract, which looks like a heavy purple petal,
rolls back from the bud and shows a row of small flows within. Some of these flowers turn into tiny green bananas.
The banana plant dies after bearing one brunch of fruit. Growers start banana plants by replanting shoots produced by
the roots of mature banana plants.

Generally, the only part of the banana plant that is used is the fruit, while the leaves and stalks are thrown
away. But some kinds of banana plants produce a useful fiber. People use the leaves of certain kinds to roof houses or
to make mats, bags and baskets.

The banana is one of the few fruits which can be bought fresh and in good condition at all times of the year.

Its peeling is germproof and dirt proof. The fruits contain three valuable vitamins A,B and C.

11. Paragraph 1
12. Paragraph 2
13. Paragraph 3
14. Paragraph 4
General uses of the banana plant.
Introduction to the banana plant.

Details of the fruit of the banana plant.

o a0 w >

How long it takes for a banana plant to reach its maximum height.




15.

16.

17.

18.

19.

Look at the picture and answer the questions

taproot

ARROT
LONING

. development
'in 4-8 weeks

Transfer to root
development medium

Wash carrot

Root and shoot Core

Cut core and D
place in petri dish 4
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Place disks on callus

Break into
3 or 4 pieces

initiation medium

How many steps are there?
a. 5 steps b. 6 steps

c. 7 steps d. 8 steps

If you are at stage 5 on the 17 of November 2016, the callus would finish forming on

a. December 29, 2016 b. December 29, 2017

c. January 5, 2016 d. January 5, 2017

How would you know that you have to plant the carrot in the soil?

a. When you get the full growth carrot b. When the root starts to grow
c. When you insert the cork d. After you wash the carrot
The word ‘transfer’ means

a. hold b. keeping c. deliver

Who would interest in this instruction?

a. Jirayuth who is an accountant working for agricultural company.

b. Marisa, a researcher in a planting research team.

c. M. Yord who teaches geography and tropical plant in Asia.

d. Nutcha who sells fertilizer and pesticide to the farmers

d. control



"My first mistake was telling the people | work
with where we were going on vacation."

20. Which of the follow is incorrect?
a. The man in the cartoon is a bachelor b. The man has the a client named Linderman

c. His co-workers know he is on vacation d. The airplane is sent by his company

Part 3 : Conversation

Choose the correct answer

Valerie: Why did you give money to that beggar ?

Vicky: 21 (toexplain) I can't walk past, ignoring him.

Valerie :You are just encouraging him to be lazy. It is a bad habit.

Vicky: He looks old and sickly.

Valerie: 22 (toagree ) But there are organizations to help people like him.
Vicky: And what are they doing to help him ?

Valerie: Allright. 23 (to pacify )

21. To explain

a. Why shouldn't I? b. He's always there.

c. I dislike beggars. d. I feel sorry for him.
22. To agree

a. All right. b. Yes, he does.

c. I believe you. d. You may be right.



23.

24.

25.

26.

27.

28.

29.

30.

To pacify
a. Let's go. b. Forget it.
c¢. Do what you like. d. Let's not argue about it.

A:1don’t think I can finish this project in time. My boss will have my hide for sure.

B: ! You still have a month left.
a. Big deal b. Just give up
c. Never say die d. Kick it up a notch

Your teacher asks your opinion about an outside reading book. You found it boring but you want to be polite

tE)

S0 you say, “
a. I prefer the book we read last term. b. the book was unreadable, wasn’t it?
¢. How could you assign such a boring book? d. The book I liked was certainly not this one.

Someone calls your office and asks to speak to your boss.

You say, ”?
a. Who are you? b. What do you want?
c. Could I have your name, please? d. Would you please call me again?

EL)

You hear your friend use an English word that you don’t know so you ask, “

a. Can that be written? b. What does that mean?

c. How can you spell that? d. Must you say that again?
You are going away for 20 days and need someone to take care of your cat.

You ask your neighbor: “  ”

a. Why don’t you feed my cat? b. Do you like to watch my cat?
c. Would you look after my cat? d. Do you keep an eye on my cat?
Brian: What’s the weather like in Bangkok now?

Nicole:

a. It’s raining cats and dogs every day.

b. Bangkok is a hot city situated in Thailand.

c. Yes, I like the weather in Bangkok so much.

d. I don’t like Bangkok because of traffic congestion.

Mike: Then you add the square root and multiply by 67, do you follow?

Jane:

a. Sorry, it’s past me. b. Sorry, it’s over me.

c. Sorry, it’s after me. d. Sorry, it’s beyond me.




